EARAROBEEIERT — 2 N— IBISH —F 2019537168 (£) 2@ 7H

iR >5% 4t 500ATF [UETE] ©= ‘ xfz] 2 ‘ [Emsh]l  — |4 (&) 1800M &
[A&4] 1 7% :7,500,000 @ 23 :3,000,000 " 33 :1,900,000 3 43 :1,100,000 @ 5 & :750,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 3| F3ZENTIL [B] # 5 5575%5& 1:54.0 1-1-1-1 | 38.5| 98.5 | 4 | 498 iﬁgi (=)
h - =) REE—
LT RTA N A=y BT R —F M4 | gk 55— 1
5 4| 75372 bU—L [B] > 4 ﬁ;f%icﬂﬁ 1:54.8 11-11-6-6 | 38.6 | 91.7 | 11 466 %ﬁ%ﬂ ()
: (5) =
R:8— MR B:Y—TIv2 TR -2 BT 7 —L4
L K e S, o 4t 4 | BEES 1:54.9 6-6-4-3 |39.0| 90.9 | 6 518 | BAEX (FiH)
37|12 ;-Aill_l\t/\_jx/-;:* - 57.0 (172) (a) |BHES
N a B:7Y3 <> 77 —L4
M. FL—H 1:54.9 4-4-4-3 | 39.0 | 90.9 | 1 486 | DORRTESL (35iF)
VA NINC RN 2 E :
4157 57.0 (7€) EoAIE:|
R:KTA MY B XR—ANIIN—F (#2) HET7—L
. 4 4 | RERkA 1:55.0 4-4-9-10 |38.3| 89.9 | 8 482 | MIB (EH)
50814 AX/T7V) 21—l 57.0 (76) _ AT
L:d—IWRT7Ua— B:T7IT7TULER (-2) EdHhTT—L4
P RS 4 5 | BEEEA 1:55.0 9-9-7-8 [38.6| 90.0 | 2 508 | EFRIRRAS ()
6 ro| 7V IV T 57.0 g oo |FEET
Zoxq4o B hLso-—% B
> 5 4 5 | AUTR 1:55.0 12-12-9-7 | 38.3| 89.9 | 3 494 | THIR (E#)
7 9| ®IYIRIZAIFTHFR 57.0 (7€) (o) |HAmAE
R:F1—TZh4 B:eSRKIEYY Bk
7 4 5 | HPBEE 1:55.7 12-12-13-12| 38.6 | 83.9 | 12 400 |EHHMEL (EH)
8 5 8 I) |~)l/l/7)l/3{ 57.0 @ 2) EEET

L:TRALTY RFA4 B MLRR—=YH— P @A

S = e 2 5 | BfEE 1:55.8 14-14-13-12| 38.7 | 83.1 | 7 498 | AFIERL (EH)
] 6| NT—=7FT7~F A 1/2) Ty kM ()

K2R JIYZAIR B:T7AEY R/ — HEBE77— L4
.= N > 6 | AR 1:55.9 2-2-2-2 | 40.3| 83.1 | 9 512 | TEE=E ()
1071 Fr7=>r7U7 ) (1/2) (-10) | FAEHE

R:ARTA IR B:EIA-—HAT BF EF

i — # 5 | WAL 1:56.0 9-9-9-10 |39.3| 81.6 | 14 40 | EFEB (EH#H)
] 2| 7Y b= [B] A54.0 (1/2) FAIEH

R:FHYTTIIRE BTy —RA YA b BRAIS
5 . s 4 | AEEE 1:56.3 7-7-7-8 | 39.9| 79.6 | 10 | 476 | EEIERA (55iH)
120111 Ayeaz2—X 55.0 2 +2) ZKHIEER
:NZ—ka1—2 H:O0YkEv b 1) I MEs
NPT . £ EERET 1:56.4 2-3-2-3 | 40.7 | 79.4 26 | AEEE (EH)
13 71> K4+ TH~7 [B] 70| K640 R A R R (546) () Ak

R:Z27)—>ke—A— B:F>3131>FK Exapse]

- o (1) (+10) L
L:F1—TZAHA B:LT1E-—FZ BR& KMEXT-T0

13/ 8
KB : -8-0- EELRN (ER)
Eﬂ 5 ®t 21 [B] 4 5 2 1:56.6 8-8-9-12 | 39.8| 77.0 | 13 492 o

1) 50.9-38.5

NAZZ2A L | 12.8-11.9-13.2-13.0-12.2-12.4-12.5-12.6-13.4

@ 11— —EBIRfL

13—7F— |3(11,13)-(7,14)12,1,5(2,10)4(9,8) -6

23—F+— | 3,11,13(7,14)-12,1,5(2,10)4(9,8)-6

3a—7+— | 3(11,13)(7,12)4(1,10) (2,14,5,9)-(6,8)

43—F— | 3,11(7,13,12)4,9(1,10) (2,14) (6,5,8)

[ RN

B O 3 6603 | | 74 R 3-4 7,110 | | B & 3-3 24,880M | | 3:EtE 3-4-12 89,960/

BB 3 290M 3-12 1,560M | | B = 3-4 30,1503 | | & 3-4-12 483,760/
4 1,530 4-12 10,350/ | | & H 3-4 45,970M
12 370M

ABICOVWTRDTEEERROODE. TR LIV,



